
日にち：　　月　　日

名まえ

・ 2×7＝14をもとにして、次のかけ算の積を求めましょう。

① 2 × 7 0

0

＝ × 1 0

＝ 2 × 7 × 1

＝

0

＝ 2 × 1 0 ×

② 2 0 × 7

7 × 1 0

＝ 2 × 7 × 1 0 × 1 0

＝

＝ ×

の      倍 だね！

 の       倍 だね！14

② 確認

2

(うすい字はなぞりましょう。)

①の答えは

1014

②の答えは



日にち：　　月　　日

名まえ

・ 2×7＝14をもとにして、次のかけ算の積を求めましょう。

① 2 × 7 0

0

＝ 1 4 × 1 0

＝ 2 × 7 × 1

＝ 1 4 0

② 2 0 × 7 0

＝ 2 × 1 0 × 0

＝ 2 × 7 × 1

1 0

7 × 1

0

＝ 1 4 0 0

0 × 1 0

＝ 1 4 ×

の      倍 だね！

 の       倍 だね！14

② 確認 答え

2

(うすい字はなぞりましょう。)

①の答えは

1014

②の答えは

100


